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QUESTION 1

A vSphere Administrator has multiple virtual machines running on a VMFS datastore.
Which option prioritizes the disk access for the virtual machines?

A. Disk Shares

B. Disk Mode

C. Disk Type

D. Hard Disk

Correct Answer: A

QUESTION 2

A cluster of vSphere 6.5 and 6.7 hosts all have identical hardware. VMs are created on the 6.7 hosts with virtual
hardware version 14. During routine maintenance on the 6.7 hosts, the VMs are unable to migrate to the 6.5 hosts.

Why are the VMs unable to migrate to the 6.5 hosts?
A. The virtual hardware version is incompatible with 6.5
B. VMware Tools version is upgraded

C. EVC mode is disabled

D. DPM is configured incorrectly

Correct Answer: C

QUESTION 3

An administrator runs multiple clusters spread across multiple vCenters. The administrator needs to be able to migrate
any VM to any cluster.

On which two vCenter Server objects could the administrator configure EVC mode to fulfill this requirement? (Choose
two.)

A. VM

B. resource pool
C. datacenter
D. cluster

E. folder
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Correct Answer: AD

QUESTION 4

What is the outcome when two affinity rules conflict?
A. VMs will continue to migrate

B. Rules are applied based on priority

C. Only one rule can be enabled

D. Random rule enablement occurs

Correct Answer: C

QUESTION 5
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An administrator suspects poor VM performance. The administrator runs esxtop and sees the following output from the

CPU and memory screens:

1.

6:48:19pm up 4:22, 528 worlds, 8 VMs, 16 vCPUs, CPU load average: 0.26, 0.36, 0.16

2.

VMKMEM/MB: 8151 managed: 407 minfree, 3055 rsvd, 5095 ursvd, high state What can the administrator conclude

from this output?

A. The host has too many worlds running.
B. The host is ballooning.

C. The host has adequate memory.

D. The host is under CPU pressure.

Correct Answer: C
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